
＜　　　年   月   日＞

⑳ 5 − 1212 + (−3)⑲ −8 + 6 − 5 + 7

⑱ 5 − 6 + 8 − 9⑰ (−
5

1212
) + (−

2020

9
)⑯ (−

5

6
) %

4

1515

⑮ (−3)3⑭ (−5656) + (−7)⑬ −4040 + 8

⑫ 2424 + (−6)⑪ (−7) % (−4)⑩ 6 % (−5)

⑨ −9 % 3⑧ −
3

5
+
1

4
⑦ −1212 − (−1414)

⑥ −8 + (−7)⑤ 1515 − 2222④ −3 − 5

③ −1111 + 3② −4 + 7① 3 − 5

◆次の計算をせよ。

　　　年　　組　　番・氏名　　　　　　　　　　　　

計算（１年　正の数・負の数）　01



＜　　　年   月   日＞

⑳ 7 − 5 % (−2)⑲ −8 + 7 − 1111 + 6

⑱ 7 − 8 + 9 − 1010⑰ (−
5

1212
) + (−

1515

1616
)⑯ (−

5

7
) %

1414

1515

⑮ (−4)2⑭ (−7272) + (−8)⑬ −4242 + 6

⑫ 3232 + (−4)⑪ (−5) % (−8)⑩ 6 % (−9)

⑨ −7 % 4⑧ −
2

3
+
1

4
⑦ −1111 − (−1313)

⑥ −5 + (−9)⑤ 1616 − 2323④ −2 − 6

③ −1212 + 8② −3 + 9① 4 − 7

◆次の計算をせよ。

　　　年　　組　　番・氏名　　　　　　　　　　　　

計算（１年　正の数・負の数）　02



＜　　　年   月   日＞

⑳ 8 − 2020 + (−4)⑲ −9 + 1111 − 6 + 7

⑱ 8 − 3 + 7 − 9⑰ (−
5

1414
) + (−

1515

7
)⑯ (−

3

8
) %

4

1515

⑮ (−2)3⑭ (−6363) + (−7)⑬ −3636 + 6

⑫ 2727 + (−9)⑪ (−8) % (−3)⑩ 7 % (−4)

⑨ −6 % 3⑧ −
1

3
−
1

2
⑦ −1515 − (−1717)

⑥ −4 + (−9)⑤ 1818 − 2121④ −1 − 6

③ −1010 + 8② −8 + 3① 2 − 7

◆次の計算をせよ。

　　　年　　組　　番・氏名　　　　　　　　　　　　

計算（１年　正の数・負の数）　03


